Assessment item 2 – Additional Assessment
Value: 40%
Due Date: 12th April 2022
Return Date: 26th April 2022
Length: up to 3000 words (penalty for extra words)
Group Assessment: No
Submission method options: EASTS (online): Submit to ‘2 Problem Questions’ – do not delete previous submission.

TASK
Answer all questions. Each question is worth 10 marks - so the assessment is marked out of 80. Use diagrams where appropriate to explain your response. Provide supporting evidence and references where appropriate to justify your arguments. Use up to about 400 words to answer each question subject to a total word limit up to 3000 words.

Please note: All diagrams must be done using MS Word. No screenshots will be accepted.  

It takes approximately 15 minutes to learn how to draw a straight line (undirected or directed) or a curve and insert a text box for labelling your axes and curves. This is all you need. The best package to use is MS-Power-Point; the diagram can then be copied and pasted into your word document. The following links provide brief online tutorials for drawing graphs (just select one):
· MS-PowerPoint and Shapes
· https://www.youtube.com/watch?v=M5X_zvh2j9Y
· https://www.youtube.com/watch?v=0u55LIAx4MI
· MS-Word and Shapes
· https://www.youtube.com/watch?v=W5OmRo8mKzM
· https://www.youtube.com/watch?v=qwMxXN6BRWU

















Question 1 [Total 10 marks]
a) Imagine that a country can produce just two things: goods and services. Assume that over a given period it could produce any of the following combinations:
	Units of goods

	0
	10
	20
	30
	40
	50
	60
	70
	80
	90
	100

	Units of services

	80
	79
	77
	74
	70
	65
	58
	48
	35
	19
	0



(i) Draw the country’s production possibility curve. 
(ii) Assuming that the country is currently producing 40 units of goods and 70 units of services, what is the opportunity cost of producing another 10 units of goods?
(iii) Explain how the numbers illustrate the principle of increasing opportunity cost.
.                                                                                                                                            [5 marks]

b) On separate demand and supply diagrams for bread, sketch the effects of the following: 
(i) a rise in the price of wheat 
(ii) a rise in the price of butter and margarine
(iii) a rise in the price of rice, pasta and potatoes.                                         [5 marks]

Question 2 [Total 10 marks]
a) The table below provides you a demand schedule for a particular brand of milk 


	Price ($) 
	 Quantity of milk demanded (millions litres per year) 
	 Total Revenue 
	Price Elasticity of demand

	3
	50
	
	

	3.5
	45
	
	

	4
	40
	
	

	4.5
	35
	
	

	5
	30
	
	



(i) Fill in the Total Revenue and Price Elasticity of Demand columns [1 mark]

(ii) At what price is Total Revenue at a maximum? [1 mark]

(iii) Draw a Demand curve and a Total Revenue curve using the information in your completed table [2 marks]

(iv) Based on the 'Total Revenue Test' identify the two ranges of the Demand curve within which the seller/producer should increase or decrease the price in order to increase Total Revenue. [2 marks]


b) Why are both the price elasticity of demand and the price elasticity of supply likely to be greater in the long run? [2 marks]

c) Which of the following will have positive signs and which will have negative ones: (a) price elasticity of demand; (b) income elasticity of demand (normal good); (c) income elasticity of demand (inferior good); (d) cross elasticity of demand (with respect to changes in price of a substitute good); (e) cross elasticity of demand (with respect to changes in price of a complementary good); (f) price elasticity of supply? [2 marks]

Question 3 [Total 10 marks]
a) If the industry under perfect competition faces a downward-sloping demand curve, why does an individual firm face a horizontal demand curve? [2 mark]

b) On a diagram, show the long-run equilibrium for both firm and industry under perfect
competition. Now assume that the demand for the product falls. Show the short-run and long-run effects. [4 marks]

c) On three (3) diagrams, show the effect on price, quantity and profit for a monopoly of each of the following:
(i) a rise in demand
(ii) a rise in fixed costs
(iii) a rise in variable costs. 
In each case, show only the average revenue (AR), marginal revenue (MR), average cost (AC) and marginal cost (MC) curves. [4 marks]

Question 4 [Total 10 marks]
a) Distinguish between publicly provided goods and public goods. Prove examples [3 marks]

b) How would you argue for government subsidising primary and secondary school education rather than leaving it to the market. [3 marks]

c) Why is the profit-maximising price under monopoly greater than marginal cost? In what way can this be seen as inefficient? [4 marks]


Question 5 [Total 10 marks]
a) Which would you rather have: (i) a pay rise of 5 per cent when inflation is 2 per cent, or (ii) a pay rise of 10 per cent when inflation is 9 per cent? Explain your reasoning. [2 marks]

b) Which debt would you rather have: (i) one where the interest rate is 10 per cent and inflation is 8 per cent, or (ii) one where the interest rate is 5 per cent and the inflation rate is 1 per cent? Explain your reasoning. [2 marks]

c) Provide a numerical example illustrating the distinction between nominal GDP and real GDP. [3 marks]

d) Use your answer to Question 5 Part c to explain how the GDP Deflator is computed. How does it differ from the computation of the Consumer Price Index (CPI)? [3 marks]

Question 6 [Total 10 marks]

a) Explain the four types of unemployment. [4 marks]

b) What factors determine potential output? [3 marks]

c) Why will actual output tend to fluctuate above and below potential output? [ 3 marks]

Question 7 [Total 10 marks]
a) Why is the Aggregate Demand curve downward sloping? [3 marks]

b) The Australian economy is currently at full-employment but there is concern rising oil prices will result in stagflation
(i) Define stagflation. [1 mark]

(ii) Use the AD-AS model to predict the effect of rising oil prices on the CPI, GDP and unemployment. [2 marks]

(ii) How could monetary policy be used to offset the effects of stagflation [2 marks]

(iii) How could changes in the wage level offset the effects stagflation? [2 marks]


Question 8 [Total 10 marks]
Use a graph to explain the impact of each of the following events on the Australian economy. Illustrate which curve (AD or AS) is impacted (that is whether it is a shift or a movement along
the curve). Consider each of these events are not inter-related.

a) Recent droughts and bush fires caused massive destruction to farm/agricultural production. [2 marks]
 
b) Analysts predict a rise in Australian exports to China which is Australia's major trading partner. [2 marks]

c) There is a fall consumer and investor confidence due to the prospect of a protracted war in Europe [2 marks]

d) Disruptions to supplies of raw materials resulting in higher raw material costs [2 marks]

e) There is collapse in housing prices and the stock market [2 marks]

